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00 o000 y=a/x=2(88). y=a/x=\frac{a}{x} \tag{88}.
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00
goog ao go
oooog 2?4+ y? =12, X 24y 2=r"2
ooooo nCr = ey A{\it n}\mathrm{C}_{\it r} =
\frac{n!}{(n-r)!r!},
gooog
good RN RN
1000 t = 2 = dz/dt = dfl(tt) = |\dot x = x"{\prime}
4 (z(t)) = dx/dt=\frac{d
x(t) H{d t}=\frac{d}{d
t}\left(x(t)\right),
2000 i = 2" = d’z/dt* = diﬁgt) = | \ddot x = x"{\prime \prime}
£ (1)), = 4 {2}x/dt {2} =\frac{d {2}
XOHd ¢ {2} =\frac{d}{d
t7{2} }\left(x(t)\right),
oo (x)dz, g(x) = | \int f(x)dx, \

g(x)=\int"{x}  f(x")dx’, \
\int_{\alpha}"{\beta} f(x)dx.

0000000 \rm= \mathrm

Js f(z,y)dady,

9@0 f(z)dz.

\int\mspace{-11mu}\int_{S}
f(x,y)\mspace{2mu}{\rm d}x
\mspace{2mu}{\rm d}y, \quad
\oint_{C} f(z){\rm d}z.

ggno

Of(z,y)
ox

= Bmf(:v,y) = f:t(x:y)?

\frac{\partial

f(x,y) }{\partial x}
=\partial {x}(x,y)=f-{x}(xy),

goodooooogdn
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0000oooooooo \left( \begin{array }{cc}

gllgl2

921922

(3)-

J(5)

AN\ A {21\ \end{array}
\right) \left(\begin{array}{cc}
g {1} & g7{12} \\ g"{21}
& gt{22} \\ \end{array}
\right) \left( \begin{array}{cc}
A{IR\ A {21\ \end{array}
\right).

20000000 (00000)

— —
OA-OB

cos (LAOB) = oAI[08]"

\cos\left(\angle
\mathrm{AOB}\right)=
\frac{\overrightarrow{\mathrm{
\overrightarrow{\mathrm{OB} } |
{] \overrightarrow{\mathrm{OA
\cdot|\overrightarrow{\mathrm{

DA}

H
OB}

0000000 dot-product

A-B=A,B,+A,B,+ A.B..

(inner product or dot product)

{\bm A}\cdot{\bm B} \equiv
AxBx +A_yB_y +A_zB_z.

000000 cross-product

e epe;
AxB=|AAA,|.
B.B,B.

(outer product or cross product)

{\bm A} \times {\bm B}
&\equiv \begin{vmatrix}{\bm
e}{x} & {\bm e} {y} & {\bm
e} {z} \\Ax& Ay& Az \Bx
& By & B_z \end{vmatrix}.

goboogoobogaooooggo

\frac{\partial }{\partial
xP\bmfe} {x}

+\frac{partial }{\partial
yH\bm{e} {y} +\frac{\partial
H\partial z}\bm{e} _{z}.

ooono 0o o
nabla 00O AV = %em + a%ey + 5, €
\nabla \equiv
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gradient:(0 O

grad f(r) = Vf(r)

_of), | 0, 0f)

or oy Y 0z 7

\mathrm{grad}\ f({bn
&=\overrightarrow{\bigt
f({\bm )\ &=\frac{)
f({\bm  r})}{\partial x
e} {x} Ffrac{)
f({\bm r})}{\partial
e} {y} -+\frac{partial -

r}) H\partial z}{\bm e}_

divergence:0 O

dvE(r,t) =V - E(r,t),

_ OE.(r,t) n OE,(r,t) n OE.(r,t)

ox oy 0z

\mathrm{div}{\bm
E}({\bm r}t)&=
\cdot {\bm E]
r},t),\\ &=\frac{\
E{x}({\bm  r},t)}{\
x} +\frac{\
E{y}({\bm  r},t)}{\
y} +\frac{\partial E_{z]
r},t) H{\partial z}.

rotation:0 O

rotH (r,t) =V x H(r,t),

\mathrm{rot}{\bm H]}
r},t) &= \nabla
f\bm  H}{\bm
&=\begin{vmatrix }{\bu
e} {x} & {\bm
& {\bm €
\dfrac{\partial }{ \partial
& \dfrac{\partial}{\par
& \dfrac{partial}{\
2\ H{xH{\bm
& HiyH{\bm
& H_{z}({\bm
\end{vmatrix}.
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Laplacian(0 D 00000000
ooooo)

82
<axz *

0? 0?

7t o)
=V?

= div - grad.

\bigtriangleup &\equiv
\frac{\partial"2}{\partia
+\frac{\partial "2} {\part
y 2}
+\frac{\partial"2}{\part
sopright) |
\nabla"2 \\
\mathrm{div}\cdot\mat

gogoogoooo
ggo

gooogn

AVU(r) =0

solution:W(7) harmonic function
— Laplace equation
A®(r) = q(r)

— Poisson’s equation

\bigtriangleup  \Psi({br
&=0 0 & \Psi({bm r}):
\text{harmonic
&\hookrightarrow text{I
eq.}\\ \bigtriangleup \P!
r}) & = q({bm r}
hookrightarrow \text{Pc

functio

equation}

goodooooogn

googd
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z=x+iy = re? = r (cos(f) + isin(h)),

Z=x—1iy=re % =r(cos(f) —isin(f)),

z=x+\mathrm{i}y
=r\mathrm{e} " {+\mathrm{i}\1
=r\left(\cos(\theta)+\mathrm{;

\\ \bar z =X-
\mathrm{i}y=r\mathrm{e} "{-
\mathrm{i}\theta}
=r\left(\cos(\theta)-

\mathrm{i}\sin(\theta)\right).

goobooon

el = cos(f) +isin(0)

\mathrm{e}"{\mathrm{i}\theta

\cos(\theta) +

\mathrm{i}\sin(\theta)
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googd g g
gooooooo \cos(\theta) =
cos(6) = olf 4 o0 \frac{\mathrm{e}"{\mathrm{i}
2 + \mathrm{e}"{-
sin(6) = e’ —2‘e‘19 \mathrm{i}\theta}}{2},\\
! \sin(\theta) =
\frac{\mathrm{e}"{\mathrm{i}
\mathrm{e}"{-
\mathrm{i}\theta}}{2\mathrm{
gooooogoogd
googd oo oo
00000.000000 \mathrm{e}" {x} & =
\cosh(x)+\sinh(x), \\

e” = cosh(x) + sinh(z),

e ¥ = cosh(z) — sinh(x)

\mathrm{e}"{-x} & =\cosh(x)-
\sinh(x)

ooooono ooood

tanh(x)

cosh(z) =

sinh(z)

sinh

e’ +e™ %

e’ —e™%

x e’ —e %

cosh

er 4 e’

~ | —

T

\cosh(x) &
=\dfrac{\mathrm{e} " {x}+\matl
SHHZEA \sinh(9) &
\dfrac{\mathrm{e}"{x}-
\mathrm{e}* {x}H2E\\
\tanh(x) &
\dfrac{\sinh(x) }{\cosh(x)}
\dfrac{\mathrm{e} " {x}-
\mathrm{e}"{-x}}

{\mathrm{e}"{x}+\mathrm{e}{-

X}}.

000000000 &&Oood
u(0,t) =U,

u(x,0) =0, && u(0,t) =U, &&
u(\infty ,t) =0.

u(z,0) =0,

u(oo,t) = 0.

J oo (Symbols)
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+ \pm o \circ e \bullet - \cdot
N \aleph h \hbar R \Re S \Im
oo \infty () \emptyset Vv \forall 3 \exists
N \cap U \cup V \vee A \wedge
C \subset D \supset C \sgsubset 2 \sqgsupset
C \subseteq D \supseteq F \vdash - \dashv
€ \in ¢ \notin 5 \ni # \not\ni
|| \parallel L \perp ~ \sim ~ \simeq
= \equiv ~ \approx o \propto # \neq
< \le <\1I > \ge > \gg
I goood
0900000
ogd oo og oo
— \gets «—— \longleftarrow
< \Leftarrow < \Longleftarrow
— \to — \longrightarrow
= \Rightarrow — \Longrightarrow
— \leftrightarrow «—— \longleftrightarrow
< \Leftrightarrow <= \Longleftrightarrow
— \mapsto — \longmapsto
«— \hookleftarrow — \hookrightarrow
= \rightleftharpoons 1 \upharpoonleft\ hspace{-
.24em}\downharpoonright
T \uparrow | \downarrow
1 \Uparrow |} \Downarrow
] \updownarrow { \Updownarrow
| upharpoonleft | downharpoonright
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|| [\
{=} \{ x\} [x] \lceil x \rceil
(x) \langle x \rangle |z] \Ifloor x \rfloor

I[]D[]D[]D[]D[]D[]D

0 10: OO dots O OO0 dotsX

g

g

g

00 dots(OODDOD)

ai,ag, ...

7an-

a_1l,a_2,\dots,a_n.

a1 +ay+--ta,

a-l 4+ a2+ \dots + an

(
00 dots(DOODODO)
(

00 dots(DDODO) ajas...ap a_l a_2 \dots an
00 dots(OODODO) [...f \int \dots \int
dotsc (commas) a,... a_1,\dotsc

dotsb (binary op. or relations) ap+--- a-1 + \dotsb
dotsm (multiplications) ay--- a_1 \dotsm

dotsi (integrals) [ \int \dotsi

I O00000 (DOo000oooooooooooo)

O 11: Greek letters

00 /00 00 /00 0o/00 0o0/00
a \alpha n \eta v \nu T \tau
B \beta 6 \theta € \xi v \upsilon
v \gamma ¢ \iota omicron ¢ \phi
 \delta k \kappa 7 \pi x \chi
€ \epsilon A \lambda p \rho ¥ \psi
¢ \zeta @ \mu o \sigma w \omega
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O 11: Greek letters
0o/00 0o/00 0o0/00 0o/00
I' \Gamma © \Theta E\Xi T \Upsilon
A \Delta A \Lambda IT \Pi ® \Phi
¥ \Sigma U \Psi
2 \Omega
I' \varGamma O \varTheta Z \varXi Y \varUpsilon
A \varDelta A \varLambda IT \varPi & \varPhi
X \varSigma v \varPsi
2 \varOmega

IDDDDDDDDDDDDDD

0o 0o 0o 0o 0o 0

N \mathbb{N} N \mathbf{N} 000000 1,2,...

Z \mathbb{Z} v/ \mathbf{Z} oooo 0,41,42, ...
Q \mathbb{Q} Q \mathbf{Q} ooooo +2/3

R \mathbb{R} R \mathbf{R} oooo V2, e=e!
C \mathbb{C} C \mathbf{C} 0o0oo0 V—1=¢"/?
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